EXHAUST TIP KIT

P/N 2884721-XXX; 2884722-XXX
BEFORE YOU BEGIN

Read these instructions and check to be sure all parts and tools are accounted for. Please retain these
installation instructions for future reference and parts ordering information.

APPLICATION

Verify accessory fitment at www.indianmotorcycle.com.

REQUIRED SOLD SEPARATELY

Only parts for installation of the Indian Motorcycle® Exhaust Tip Kit are included. Prior installation of the
following additional kits are also required (sold separately):

» Slip-On Exhaust Kit, P/N 2884720-XXX

‘ XXX = Indian Motorcycle® color code (For example: 266 = Black) \

KIT CONTENTS
EXHAUST TIP, SLASH CUT KIT P/N 2884721-XXX

REF | OTY | PART DESCRIPTION gégﬁ;ﬁ? LE
1 2 Exhaust Tip, Slash Cut N/A
2 2 Exhaust Tip Tab, Slash Cut N/A
3 2 Rear Exhaust Badge N/A

Instr 9931113 Rev 01 2021-02 Pagel of4


https://www.indianmotorcycle.com/en-us/

REF | OTY | PART DESCRIPTION gégﬂlﬁ;&? he
4 Screw, Socket Head, M6 x 20 mm N/A

5 2 Screw, Button Head, M5 x 10 mm N/A
2 Screw, Button Head, M5 x 14 mm N/A

EXHAUST TIP, FISH TAIL KIT P/N 2884722-XXX

REF | OTY | PART DESCRIPTION gég;;‘ggﬁ? LE
1 2 Exhaust Tip, Fish Tail N/A
2 2 Rear Exhaust Badge N/A
3 4 Screw, Socket Head, M6 x 70 mm N/A
4 4 Screw, Button Head, M5 x 5 mm N/A

TOOLS REQUIRED

+ Safety Glasses
» Socket Set, Hex Bit, Metric

* Torque Wrench

IMPORTANT

Your Indian Motorcycle® Exhaust Tip Kit is exclusively designed for your vehicle. Please read the
installation instructions thoroughly before beginning. Installation is easier if the vehicle is clean and free of
debris. For your safety, and to ensure a satisfactory installation, perform all installation steps correctly in
the sequence shown.

Instr 9931113 Rev 01 2021-02 Page 2 of 4



INSTALLATION INSTRUCTIONS
VEHICLE PREPARATION

GENERAL

Engine and exhaust components get hot and
remain hot for a period of time after the engine is
stopped. Wear insulated protective clothing or
wait for components to cool sufficiently before
working on the vehicle.

—

Park motorcycle on a flat surface, fully extend
kickstand, and make sure vehicle is stable.

Do

. Turn key or ignition switch to OFF position and
remove key. If equipped with keyless fob,
remove fob from proximity of vehicle.

ACCESSORY INSTALLATION
SLASH CUT EXHAUST TIPS

1. Install the exhaust tips (D into muffler and attach
with two screws (@ for each exhaust tip. Torque
screws to specification.

NOTICE

Make sure the exhaust tip is fully seated into the
muffler body before installing the screws.

TORQUE

Exhaust Tip Screws ®:
80 in-lbs (9 N-m)

3. Install each exhaust badge ® onto each exhaust

tip tab @.

. Put the exhaust tip tabs @ on the mufflers. Install

the long screws ® in the rear hole of each
exhaust tip tab, and install the short screws ® in
the front hole of each exhaust tip tab. Torque
screws to specification.

TORQUE

Exhaust Tip Tab/Badge Screws ® & ®:
35 in-lbs (4 N'm)

2. Remove the protective film from the outside of
the exhaust badge 3 and adhesive film from the
inside.

Instr 9931113 Rev 01 2021-02 Page 3 of 4




FISH TAIL EXHAUST TIPS 2. Remove the protective film from the outside of

1. Install exhaust tips (D into muffler and attach the exhaust badge .
with two screws (@ for each exhaust tip. Torque 3. Put each exhaust badge @ onto the mufflers and
screws to specification. install two screws (@ for each exhaust badge.

Torque screws to specification.

Make sure the exhaust tip is fully seated into the TORQUE

muffler body before installing the screws. Exhaust Badge Screws @:

35 in-lbs (4 N'm)
TORQUE

Exhaust Tip Screws (3®:
80 in-1bs (9 N'm)

INSTRUCTION FEEDBACK FORM

A feedback form has been created for the installer to provide any comments,
questions or concerns about the installation instructions. The form is viewable
on mobile devices by scanning the QR code or by clicking HERE if viewing on
aPC.

Instr 9931113 Rev 01 2021-02 Page 4 of 4


https://form.jotform.com/61263903942153?&number=9931113&revision=R01

	Exhaust Tip Kit 

